

$$t_0 - t_v = 12 \quad t_4 - t_1 = ?$$

$$t_0 = a + 9d - a - 9d = 12 \quad d = 4$$

$$t_4 - t_1 = a + 4d - a = 4d = 4 \times 4 = 16$$

$$\underline{t_4 - t_1 = 16}$$

$$a_7 = V \quad \text{Old} \quad \frac{a_7 - a_1}{7-1} \rightarrow \frac{10 - V}{6} = 4 \quad \underline{d = 4}$$

$$a_7 = 10 \quad a_7 = a + d \rightarrow V = a + 4 \quad \underline{a = 6}$$

$$a_1 = 3 \quad a_7 = a + 6d \rightarrow 3 + 6 = 11$$

$$b_n = 3, 11, 19, \dots \quad b_n = \begin{cases} d = \frac{a_7 - a_1}{7-1} \rightarrow \frac{11-3}{6} = \textcircled{1} \end{cases} \quad b_n = n - 2$$

$$\frac{1}{2}, \frac{1}{3}, \frac{1}{4}, \frac{1}{5}, \frac{1}{6}, \frac{1}{7}, \frac{1}{8}, \frac{1}{9}, \frac{1}{10}, \frac{1}{11}, \frac{1}{12}, \frac{1}{13}, \frac{1}{14}, \frac{1}{15}, \frac{1}{16}, \frac{1}{17}, \frac{1}{18}, \frac{1}{19}, \frac{1}{20}, \dots$$

$$t_n = \frac{f_{n-2}}{n+3} \rightarrow \frac{f_{n-2}}{n+3} < \frac{3}{2}$$

$$4n + 4 > 11n - 1 \quad n \in \mathbb{N} \quad \left\{ \begin{array}{l} \text{النوع الأول} \\ \text{النوع الثاني} \end{array} \right. \quad n < 6$$

$$4, 9, 9, 9, 0$$

$$+2 \quad 0 \quad -3 \quad -3$$

$$-3 \quad -3 \quad -3$$

$$a_n = \begin{cases} a = \frac{-3}{2} \\ b = t_4 - t_1 - 3a = 9 - 9 - (3 \times \frac{-3}{2}) \rightarrow \boxed{4.5} \end{cases}$$

$$3A + 2B = (3 \times -10) + (2 \times 10) = -30 + 20 = -10 \quad \textcircled{33}$$

$$t_n = (-4), -4, -4, 0 \rightarrow 2a \quad a = 1 \quad t_0 = -4 = c$$

$$a + d = 31 \rightarrow -a - d = -31 \rightarrow 2d = 31 \rightarrow d = 15.5 \quad a + d = 31$$

$$a + 3d = 41 \rightarrow \underline{a + 3d = 41}$$

$$a = 34 \quad \textcircled{a_n = 34(n-1) + 34}$$

$$t_1 = 1 \times 1 + b \times 1 - 4 \rightarrow -4 \rightarrow b - 4 = -4 \quad b = 0 \quad t_n = n^2 - n - 4$$

$$2n + 11 = n^2 - n - 4 \rightarrow n^2 - 3n - 15 = 0 \quad \Delta = 144 \rightarrow \Delta = 12$$

$$n = \frac{3 \pm 12}{2} \rightarrow 9 \quad \text{باعتبار أن } n \in \mathbb{N} \quad \text{فإن } n = 9 \quad \text{باعتبار أن } n \in \mathbb{N} \quad \text{فإن } n = 9$$